
LEG CURL

FH014



7

8

9

12

13

14







5

1 Bottom Brace 1 22 Axle 2

2 Left Stand 1 23 Limit Axis 2

3 Right Stand 1 24 End Cap Φ54 8

4 Main Frame 1 25 Φ48 Aluminum Blocking Plate 2

5 Left Arm,Weldment 1 26 Snap Spring 2

6 Right Arm,Weldment 1 27 Aluminum Ring Φ40×Φ33×9.5 3

7 Knee Cushion Frame 1 28 Aluminium Cap Φ39.5×Φ32.8×19 3

8 Elbow Cushion Frame 1 29 Aluminum Ring Φ90×Φ26.2×5 4

9 Counterweight Pole Frame 2 30 Bearing6206-2Z 4

10 Foam 2 31 Flat Washer Φ13×Φ24×1.5 24

11 Eblow Pad 1 32 Socket Head Cap Screw M12×30 20

12 Generic Drawing,  Thigh Pad, Dpl 1 33 Socket Head Cap Screw M12×35 4

13 Knee Pad 1 34 Soket Head Cap Screw M8×30 13

14 Foot Cover 4 35 Socket Set Screw M5×3 6

15 Plug □50×100 8 36 Flat Head Cap Screw M6×16 3

16 Rubber Bumper 2 37 Socket Set Screw M8×6 4

Item No Description QTY Item No Description QTY

17 Limit Handle Gloves 2 38 Flat Head Cap Screw M10×25 4

18 Pipe Plug □75 4 39 Flat Head Cap Screw M10×30 2

19 Bumper 2 40 Flat Head Cap Screw M12×30 4

20 Grip 3 41 Flat Head Cap Screw M12×40 2

21 End Cap 3 42 Flat Washer Φ9×Φ16×1.6 13



6

31

35

23

44

3
3

2
0

211528 82
7

1

38
5

12

22

2
6

1
9

2

7

34

30

41

37

14

10

2
9

16

13

9

17

36

18

40

42

25

11

6

2
4

32

4

39

3

43



7



8



9

STEP 1

32

8

2

7

1

32 31

32

31

32
31

32

3

31

4

31

Item No Description QTY Item No Description QTY

1 Bottom Brace 1 7 Knee Cushion Frame 1

2 Left Stand 1 8 Elbow Cushion Frame 1

3 Right Stand 1 31 Flat Washer Φ13×Φ24×1.5 20

4 Main Frame 1 32 Socket Head Cap Screw M12×30 20



10

STEP 2

Item No Description QTY Item No Description QTY

5 Left Arm,Weldment 1 19 Bumper 2

6 Right Arm,Weldment 1 26 Snap Spring 2

9 Counterweight Pole Frame 2 37 Socket Set Screw M8×6 4

19

5

269

6

37



11

STEP 3

12

34

42

21

34

42

42

10

34

11

13

Item No Description QTY Item No Description QTY

10 Foam 2 21 End Cap 3

11 Eblow Pad 1 34 Soket Head Cap Screw M8×30 13

12 Generic Drawing,  Thigh Pad, Dpl 1 42 Flat Washer Φ9×Φ16×1.6 13

13 Knee Pad 1



12



13



14


